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logpa=1l,a#1,a>0
logp1=0,a#1,a>0
loga b +logg ¢ =loge(c-b) , < 0,a+#1,
log, b — log, ¢ = log, (b) b>0,c>0

¢
log, b-logya=1
1

log, a

a>0a+1,
b>0b#1

loga b =

a®ab =1 a>0a#1,b>0

log.b a=0,a+1,
log, a c>0cx1,b>0

log, b =

log, b =n-log,b,a>0,a#1,b >0
log, b*™ = 2n-logglbl,a > 0,a # 1

1
lﬂgﬂnb=Hlngﬂh,a}ﬂ,a=& L,Lb>0

1
log zn b = Elﬂglalb-ﬂ #1,b>0



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

1. (log381)(logs125) 4+ logg 54 —loge 1,5

OTBeT: 3 OTBeT: 2
log= 93

, 58 s logs 16,2 + logy 5
10g25 93 OTBeT: 2
OTBeT: 125

3. 43+10g4 5 6. 10g20 0,05 + logoioz 2500
PelueHue: 43 4108:5 = g4.. 5 = 320 PeweHme: log,o — + log = 2500 =

logzo 5= + log 1 2500 = —1+ (—1-logs 502) =

—1-2=-3



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

" (log; 81)(log: 125)



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

" (log; 81)(log: 125)

OTBeT: 3



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log: 93
log,= 93



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log: 93
log,= 93

OTBeT: 125



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

43+log4 5



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

43+log4 5

PeLwueHwue:
43. 410845 = 64 . 5 = 320

OT1BeT: 520



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log, 54 — log, 1,5



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log, 54 — log, 1,5

OTBeT: 2



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

logg 16,2 + logg 5



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

logg 16,2 + logg 5

OTBeT: 2



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

" log,o 0,05 + logg o2 2500



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

" log,o 0,05 + logg o2 2500

PeweHue:

logzoﬁ + log 2 2500 = logzo% +

100

log1 2500 = —1 4+ (—1-loggu50%) = —1—2= -3
50

OTBeT: -5



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log, 98
6. log,, 8 16
log- 2
10g17 2 16 g7
PeweHue:
OTBeT: 12
16110gg7 928 _ 1610g7 98-log, 2 _
16'087
1610g792_8 — 16198749 = 162 = 256
7. 8l082° 10. loge 77 14
OTBeT: 2 OTBeT: 8

8. log; 36 -logg 49

PeweHue:



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log,- 8

log,-, 2



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log,- 8

log,-, 2

OoTBeT: 12



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

8log2 5



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

8log2 5

OTBeT: 2



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log; 36 - log, 49

PeweHwWe:

10g762°10g672 — 2‘210g76‘10g67 = /4



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log; 36 - log, 49

PeweHwWe:

10g762°10g672 — 2‘210g76‘10g67 = /4

OTBeT:. 4



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

1610g7 98

161087 2



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

1610g7 98
161087 2
PeweHue:
log, 98
1657 — 1610g7 98—-log; 2 — 16108792_8
161087 2

= 168749 = 162 = 256

OT1BeT: 256



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

10.

logm 14



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

10.

logm 14

OTBeT: 8



11.

12.

13.

14.

15.

(1 —1log,56) (1 —logy,56)

PeweHue: (1 —log,56) - (1 —log,4,56) = (1 —log,(4-14)) (1 —
log14(4-14)) = (1 —1logs4 —log,14) - (1 —logys4 —log.4) =
—log, 14 - (—logys4) =1

log: 150
2+ log: 6
logs 150 logs(25-6 logs 25+logs 6  2+logs 6
PelueHune: 1285150 _ 1085(25:6) _ logs 856 _ 856 _
2+logs 6 2+logs 6 2+logs 6 2+logs 6
log; 13 1
081173
log; 11 13
1 13 1 —
PELLIeHI/IeZ 087 + logll— = logll 13 + logll 13 1= 0
log, 11 13

(71°g5 13)10g13 > Oteer 7

HanpuTte log,(a’c!!) ecinlog,c= —5

PeweHwue: log,a’ +log,c'' =7+ 11log,c =7 —11-5 = —48



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

11

(1 —1log, 56) (1 —1log,56)



11

Hantn 3Ha4dyeHune BblPaXXeHUN4H.

(1 —1log, 56) (1 —1log,56)

PeweHwue:
(1—1log,56) (1 —1og,456)

= (1 —logs(4-14)) - (1 —log 4(4-14))
= (1 —logs4 —log,14) - (1 —log4s4 —log 4 4)
= —log,s 14 - (—log44) =1

OTBeT: |



12.

Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log: 150
2 + log: 6




Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log: 150
2 + log: 6

12.

PeweHue:

log: 150 logs(25-6)  logs25+logs6

2 +log: 6 2 +logs 6 2 +log: 6
_ 2+logs6 .
~ 2+logs6

OTBeT: |



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log, 13 1

1 il
T 081113

13.

log, 11



13.

Hantn 3Ha4dyeHune BblPaXXeHUN4H.

log, 13 1

1 il
T 081113

log, 11

PeweHue:

log-, 13
log, 11

1
- logllﬁ = 10811 13 + 10g11 13_1:O

OT1BeT:. O



14.

Hantn 3Ha4dyeHune BblPaXXeHUN4H.

(7log5 13)10g13 >



14.

Hantn 3Ha4dyeHune BblPaXXeHUN4H.

(7log5 13)10g13 >

oTBeT:. /



Hantn 3Ha4dyeHune BblPaXXeHUN4H.

" Hanpgure
log,(a’c'!) ecmulog,c = —5



HalTh 3HaUeHMe BblparKeHUS:
15. w
Hanpurte
log,(a’c't) ecinlog,c = —5

PeweHue:
log,a’” + log, cl! =
7+ 11log,c=7—11-5 = —48

OTBeT: -48



